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1 – P(Z ≤ 2) = 0.0228 
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P.Value0.095 5%

2 Test Hypothesis Using Chi-Square Distribution
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α0.05
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Smirnov -KolmogorovGoodness of Fit Test 

 

 

H0 : Fn(X) = F0(X)

HA : Fn(X) ≠ F0(X)

Fn(X) < F0(X)

Fn(X) > F0(X)

 

Smirnov -KolmogorovGoodness of Fit Test SPSS

  Dinner 

AnalyzeParametric Test-Non

S -Sample K-1 
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Normal

PoissonUniformExponentialOk

15.266.782

0.573 

  

 0.898tailed) =-Asymp. Sig. (2 

α0.05

15.266.7826.782  ,  15.26X : N

 تم بحمد الله ،،
 إن أصبت فتوفيق مه الله وإن حصل هناك خطأ فمه وفسي والشيطان

وإياكم ، ودعواتكم الطيبةوفقنا الله   

 أخوكم / شيءٌ آخر ) أبو فيصل (


